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AJOvY RESC HSEFC AREFC7I—T B 8 Bt | R | k| | Ba [ Bks| BN
RESC 0 : 3 2 : 2 0 1 1 2 5 1 -3 3
HEEFC 3 : 0 1 0 2 0 0 4 0 6 4 1
EEFCTI—T 2 : 2 0 1 0 1 1 2 3 1 -1 2
BJOvY HMDBFC BIAFC A <1)/FC s 8 Bt | R | K| | BR[| FKs| B
HWDBFC 1 : 0 1 : 0 2 0 0 2 0 6 2 1
BIHFC A 0 : 1 0 1 0 2 0 0 2 0 -2 3
<) JFC 0 : 1 1 0 1 1 0 1 1 3 0 2
coavy BIFRFC B NAFC AFFC [ & 55| BA KR R | BXR | &
BIFEFC B 4 : 1 3 g 0 2 0 0 7 1 6 6 1
MAFC 1 : 4 0 1 0 2 0 1 5 0 -4 3
AFFC 0 : 3 1 0 1 1 0 1 3 3 -2 2
DJavy FETSC HEFSC FR3HFC B 8 Bt | B | ks | Ba | B%ks| BN
PFETSC 1 : 0 5 g 0 2 0 0 6 0 6 6 1
REFSC : 6 0 1 1 0 6 1 3 5 2
FHFC 0 : 5 0 6 0 2 0 0 11 0 -11 3
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EJOvY JEFCYa=7 H#WEFC ARFC B 8 Elat | /R kR | BR | B%R | IER
JBFCYa=7 0 g 2 1 g 3 0 2 0 1 5 0 -4 3
#WEFC 2 : 0 4 1 2 0 0 6 1 6 5 1
AALFC 3 1 4 1 1 0 4 5 3 -1 2
FJOvy $RIESC BIAFC REFSC 5 8 Bl | Fs K| | BR | BKR | B
#3;HSC 0 g 3 0 g 9 0 2 0 0 12 0 -12 3
BHFC 3 : 0 1 4 1 1 0 4 4 3 0 2
REFSC 9 : 0 4 1 2 0 0 13 1 6 12 1
=)=} J4) V¥ —=—HHESC HWDABFC IHBEALTY B a Blat | /R ke | B | B%xa | B
Ay F—= BBRSC 0 2 9 0 : 8 0 2 0 0 17 0 -17 3
#WDBFC 9 : 0 0 5 1 1 0 9 5 3 4 2
IHBEALTY 8 : 0 5 0 2 0 0 13 0 6 13 1
HJOwY FHFC JRESC RESC B a Blat | /R ke | B | B%xa | B
FEFHFC 0 : 2 2 : 5 0 2 0 2 7 0 -5 3
tEZESC 2 : 0 3 3 1 0 1 5 3 4 2 2
RESC 5 : 2 3 3 1 0 1 8 5 4 3 1
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No [ F&fS F—As tEE F—1s =¥ F—1s HEE F—1s =¥

1 | 09:30 R=SC 0 : 3 HIEFC <')JFC BARFC B 4 : 1 IMAFC FTFHFC
2 [ 10:10] #®DOAFC 1 0 BARFC A HSEFC HFETSC 1 0 REFSC IMAFC
3 | 1050 RESC 2 2 ERFC7I—3 | BBRFC A BAGFC B 3 0 AFLFC REFSC
4 | 11:30] #OAFC 1 0 <')JFC RESC HETSC 5 0 EHFC BRRFC B
5 |[12:10 HSEFC 1 0 EFEFCT7I—3 | D AFC IMAFC 0 1 AFLFC PFETSC
6 | 1250] BARFCA 0 1 <')JFC sEFc7s—d| HEEFSC 6 0 EHFC AFLFC
7 | 13:30 RETSC 3 2 BARFC A HSEFC IMAFC 2 3 FHFC BARFC B
8 | 14:10] EFFC7I—3 0 2 <')/FC RESC AFAFC 1 3 BEEFSC FHFC
9 | 1450 HSEFC 4 0 HDAFC <')/FC BERFC B PK6 0 PK7 XPFETSC REFSC
10 | 15:30 ZZESC 3 2 FFHFC HSEFC BARFC A 5 0 MAFC PFETSC
11 | 16:10 <')JFC 1 PK2 1 PK3 REFSC RESC | ZMFC7=—3 3 1 AFLFC BEEFC A
12 | 16:50] A IEFC 2 0 PETSC AR HDABFC 1 2 BRRFC B il

13 | 17:30
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@ | 09:30] fBFCPa=7 0 : 2 #HEFC HEFSC|yruvr—=mmmsc| 0 : 9 HDAFC ZESC
@ | 10:10 #RESC 0 3 BHHRFC #HEFC EHFC 0 2 dtHESC MDD AFC
@ | 10:50] ABFCYa=7F 1 3 AFLFC BHHEFC |Yruvsr—=gmESC 0 8 IHEALTY | dEEESC
@ | 11:30 §m:8SC 0 9 HEFSC [wrcsa=7 FHFC 2 5 RTESC AU Y-S BERSO
® | 12:10 #HFEFC 4 1 AFLFC $R;HSC HDAFC 0 5 IHEALTY | FHFC
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